K B #H € =
WK | EXKHEEOBIZOE) KEHEWRAIZDOE)
TEE RER NRBIGH —HRH
DR EAKE [RAKE |[RRAKE [RAKE |RRKE |RRKE
= 103L A A—|103L FA—|203L F A—|303L H A— |13 L FA—F 1L FA—k
RILETO [FILEEZ [MLEBZ |FLEFBA |JLIZDE |JLIZDE
» 2031 5 A—|303L F A—|B13L A
FILETD [FILETO [A—FILIZ
SMILA  |PEA |DoFE
A—RJLIZ | A—=FILIZ
oE o=
EHA [3UA-MY
A1%13 781H | £4 117M708%| 152F904%% | 160F160%%| 75M90%%| 160F160%%
A%20 1,221H
A1%25 1,859
A1%40 4,158
A4%50 10,395
Af&75 20,790
a#£100 41,580
A#125 83,160
a#150 124,740
A#£200 207,900M
42250 | 291,060M
aO#£300 415,800

X OIMRICOE, HERFHIAENETFNLTOET




